
tT-Y Bms W serb

laPnt
QF ffede : 2'383(}

I Total h&arks ; 'i5 *,

\"\
|? 

t/z Hottrs)

I'{. B. : (1) All questions are compulsory

(2) Workings forrr part of your answer

(3) Use of simple caiculator is permitterl

1. Attempt any two :-
(a) What is Portfolio Merrap,.:r^r,,r,,rt'i State the Obje';tives of l'}ortfoli

Management"

(b) Define Book Building. Explr;rin rhe proced:rre involved in

building.
(") Mr. Bantu wants to ir,vest liis money in a mutual fund, he

has collected informaiion about t'hree mutual fi'rnds. Fund

2. Attempt any ,i$Yo :

(a) Mertdar Co. Ltd. is to invest in a project requiring a i5
eapital outflorr.' { ,000/-. Forecast for annual income afti:r

tax is as foll;'
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D is charged on i, -M basis over the life of the pr oiect

Life asset is 5 years.*:Lh no scrap value. Evaluate 1ae project

basis of Net Pre;ettt value taking l3% discountlng factor: and

whether compi:jlJl shouid invest in the ,:r',ie*r or not

want to invest @) 9% p.a. colnF,lund interesl, such amount as will

amount to T 60,000/- at the end of ihree year", FIow much should he

invest?
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A, Fund B, Fund C arid the market was 25oh,

il, Fund C and the me,rket. The average expected for Fund

and 20Yo

respectively. The standard deviation of and market

was lZYo, l5o/o, 9Yo and 13% Beta. of various

securities ,$as 1|2i , i.";C, i . i -1 arrii r. 1 \LLUridir!r'g

r.vhich portfolio shouiri be selected Sharpe's, Treynor's and

Assume risk free rate icl' Jensen's measuro of portfolio

be L5Yo,
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(*) Four equai annuai payments of < 5,00(.tl- are nrade into a deposit

accbunt that- pays 8o/o interest per year. 'i',rhat is the future value of

this annuitY at the end of 4 Years?

Calcuiate the expected return and standard of securities

(b) XYZ I.td. paid the following dividenci per had the following
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Returns %

F PortfolioProbabilityScenario
10 224400.15Boom

2VY20 200.50Normal
10 400.3 sRecession

Year Dividend per share Iuru1$}rire per share

2044 1.53
r:r.zi(,

2005 1.53 ,u 20.7 5

2006 1.s3 * r 30.88

2007 2.oo .J" 67.00

I TURN OVER

Attempt any t$'o :

(a) Salman Khan hars a portfolic of trvo secr-irities with +07o investments

in E and 609'o invesfinents in F, The cha:.eicteristics of return under three

different scenarios with different probability for the fwo securities

the below:aia

Caloulate the annual return using Holrling perioci F.eturn.

(e) Write a short ralios.

two
(a) 'P'

dividend of T 8/- i:er share. Find out the intrinsic value

share of all the three companies if growth rate is same for

of them at7% and the required rate of rehrrn rs l4o/o,l6t/o and

18% ti-''r 'P' itd. 'Q' ltd-. and 'R' ltd respectively'
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(b) Ycru are considerin5l investnter,t it one cf th:

Assume Bonds are at par. Recommend

be purchased.

---# used in cal

5. You are a Portfolio Management Consuitant" Mr. Rao, an

to invest ? 20,00,000/-. Suggest him with valious investment

will give stable returns with rniiiimum risk. Present to hirn any

schemes mentioning varlous rnerrts & demerits of each
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I Coupon Rate Price ( 100 par value

Bond A I tt't 10 -v"ears < 751-

BONd B I2% 7 years <- 68/-

" : 661 4-15.
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